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All questions are compulsory.

Questions number 1-5 are of one mark each. The answers to these
questions should not exceed 20 words each.

Questions number 6 - 10 are of two marks each. The answers to these
questions should not exceed 40 words each.

Questions number 11 - 16 are of four marks each. The answers to these
questions should not exceed 100 words each.

Questions number 17 - 21 are of five marks each. The answers to these
questions should not exceed 150 words each.

Question number 21 is a map-based question. Write its answer in your
answer-book.

Questions number 22 - 27 are of six marks each. The answers to these
questions should not exceed 150 words each.



W8 9 o 987 § foiw U et e & ol W fRed e e ama
TR gRI ITia ‘gieem gfgen 1fafm, 1986’ 3l deh ~ATIETd o ?

How far was the Government of India justified in passing the ‘Muslim

Women Act, 1986’ that nullified the Supreme Court’s judgement in
favour of Shah Bano ?

foerrasfiar qen sy fomfda <ot & fofu smyfaehiertor 1w 31ef 8 ?

What does modernisation mean to the developing and underdeveloped
countries ?

aEq ! UrEl TSB! Bl IR Ik M UEh hl Ugd H B, I IETIHA
AT & HTETH & HH G hl ST Tehd B 2

How does globalisation fulfil the requirement of quality as well as
affordability ?

ITEH (G <ht TATHAT i hl T8 off 2
Why was ASEAN established ?

‘o R | R AT B 2
What is meant by ‘Shock Therapy’ ?

1Y hal Ik FgHd @ Toh TH-HIUR o1 qgaarel ad1 gHi-Ie TEpid TS ol
TEuoT S 73 B 2

How far do you agree that the plural and secular culture of Jammu and
Kashmir is still largely intact ?

forfesr v <5 <1 Tl <h1 SEdT Sl 1947 § TqedT fead deh oft gar 98 on fom 9
AT oh1 Tsh WTT & AT UTfh&d™ 1 3T 41 2 39 Tidi o A1 1 3g@

I | 1+1=2

Why did the people of two provinces of British India not know at all, even
on the day of independence in 1947, whether they were a part of India or
Pakistan ? Also, mention the names of the provinces.
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8.  IMa¥g HA | IS I &I SRV 1, 3 CERGNIR Hl Ig@ T | 2x1=2

Mention the two ideologies which were involved in a major conflict during
the Cold War era.

9. i3 al 3G oR [Hg HIVY FoF WRA 1 GA9Th S o5 &1 a= e o
BEESEICKIRN 2x1=2

Give any two examples to prove that the constitutional framework in
India is very flexible and accommodative.

10. T ‘A’ S = for U st o @€ 0w, s B % i feu e swemi/qe

% @19 HIF drfer 3 refqel = - 4><§:2
&qry ‘A’ 7ty ‘B’
(%) . HETS () Tl Tt it ot v e w5
(@) . i (i) Toemer o neaTg -t Wi e
YRY A ATl
(M) Y ST (i) wh Fea e & &9 3§
sgufd <1 A e T S ol
(7) RS gET (iv) ST 99T % SR 1 et e

Match the personalities given below in column ‘A’ with the
statements/facts given in column ‘B’ to make them meaningful :

Column ‘A’ Column ‘B’

(a) K. Kamaraj (1) First Prime Minister belonging to
a non-Congress Party

(b)  V.V.Giri (i1))  Introduced Mid-Day Meal
Scheme in schools

(c) Karpoori Thakur (iii)) Contested and won Presidential
election as an independent
candidate

(d)  Morarji Desai (iv)  Strong opponent of the use of
English language
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12.

13.

14.

15.

16.
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1 T TRl H AIChT IR o AWl H, 3T =1 AN I dred @
1A Toheal = ShTehl <Rl FUMH ShITWT | dx1=4

Describe any four factors which deprived the common man in China to
reap the benefits of dramatic improvement in the Chinese economy.

3TE.TA.TH. (IMF) 1 foeqd 9 91 8 ? 391 J&F 1 [ARaU | 3715, TH.T%.
% ST TH FEEI-USE <hl et o1 7 ? 1+1+2=4

What does IMF stand for ? Write its main function. What is the role of
top ten member-nations of IMF ?

Jyellertor 1 fagg W § 9l STel=A = R 1 @ R 2 s G HIY W
iU | 4x1=4

Why is globalisation being criticised strongly all over the world ? Explain
any four reasons.

1885 H U T/ THE o ®U H U 3IgHT § TR, Tk GIHIEh qo

forearRYTcHe Tea9d & €9 § hidg Hy faenfed g8 ? 4

Right from its origin in 1885 as a pressure group, how did Congress

evolve as a social and ideological coalition ?

1970 % Ik § TN TU T STUTAehT & Hig U fohdl 1 913l sl IR
ST | 2+2=4

Highlight any two lessons which we have learnt from the National

Emergency imposed during the 1970s.

1947 ® fourem ht Ufshan & RO, YRA QAT Ifhea™ aFl & HHET 378 X
& HISATSAT Sl IATR HINT | dx]=4

Highlight the four major difficulties faced by both India and Pakistan due
to the process of partition in 1947.
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17. FfaRad 3G 1 SaFYdes FFH WU qe1 36 W A9ia = feu T
T % I AT
TG UEL IHESHT o STid Ueh 9g-3eedid formel sy a9 o1 J&dre
3 | g gHefeRl 1 el g foh 3ok P @ oG o T 9gd S o afga
T ugrh Tsat § i o urht, B i fostelt < Icute st glaem gaan g
ST Gkt Qe HiY hl U9 | TUTCHeh Fgiadl BN | S T T ITfEE 39
o @ ot Jg @ o1 @ off T o e o g@ il muereh W HAHY
ST ST TR | SaTiard sty o fmier & Tef asAt % 245 e g9 6 &F |
MW@ I | q: YT Tidi o P S5 A AN o G T &l T8 Tact
T HRIwAIAT 7 ISMT |

G) oy o a0y 7 foru I a1 9o 3 5T TR & ITCEIAH w1 Y GO

feRa 2

(i) &T¢ T FQ@ S TG T ITHI T SIF ATl 0 ATH T [T
T ?

(i) 39 914 ! &AW § Wd gC Toh 245 Tl &l SA7H g1 8, Sidi 1 07
AT el qoh I & ? 1+42+2=5

Study the following passage carefully and answer the questions based on
it that follow :

Sardar Sarovar Project is a multipurpose mega-scale dam. Its
advocates say that it would benefit huge areas of Gujarat and the three
adjoining states in terms of availability of drinking water and water for
irrigation, generation of electricity and increase in agricultural
production. Many more subsidiary benefits like effective flood and
drought control in the region were linked to the success of this dam. In
the process of construction of the dam 245 villages from these states were
expected to get submerged. It required relocation of around two and a
half lakh people from these villages. Issues of relocation and proper
rehabilitation of the project-affected people were first raised by local
activist groups.

) What form of agitation did the protests against the dam take ?

(ii))  Why have benefits like flood and drought control been called as
subsidiary benefits ?

(iii) Since 245 villages were expected to get submerged, how far is the
construction of the dams justified ?

59/2/3 6



18. fAfafad 3G 1 eamydes Ieasd ST qen 39 W oaia = fou
gt 3 gg o SH QT & TesHl o e wfdgfed TuT T8 g
off, 31 R TH-gaL & Jfd ¥R 1 BT H QHI T[T A W SRR ST g
R TMAR gg % Y A d @ | BRI o 9 &R &l g § 99 & *
foru St I TR |

ST ¥ TR 9 91d ! 90 & o Toh T3 o a1as[g g & 9ohdl & |
() 3 ot et % am fafau |

(i) BRRW fI WP e B g k4 ok U Teawas w0 aHen
ST 8 2

(iii) T9H o WTaSg AT 4G hd B Tohdl @ ? 1+42+2=5

Study the following passage carefully and answer the questions based on
it that follow :

Since the Cold War did not eliminate rivalries between the two
alliances, mutual suspicions led them to arm themselves to the teeth and
to constantly prepare for war. Huge stocks of arms were considered

necessary to prevent wars from taking place.
The two sides understood that war might occur in spite of restraint.
1) Name the two rival alliances.

(i) Why were huge stocks of arms considered to be necessary to

prevent war ?

(iii)) How could war occur in spite of restraints ?

59/2/3 7 P.T.O.
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(i) 39Yh ARG § 37 &I Ug i ggaH hifere @ fgdfter geadfa Jiemn &
Tt Atk R refed 61 g oft 2

(i) U GIIHE ASHT o AW hd & H —=IJaH UMM 1 e fohar T
3R =1 2

(iii) T GEGH ASHT o FTAIA hH-H A& I G & b $OH HY qel
308 getud fawa = o e mm on 2 1+2+2=5
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Study the bar graph given below carefully and answer the questions based
onit:

Allocations in the First and Second Five Year Plans (in %)
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Major heads of development

1) Identify the major head from the above graph which has been
allocated the maximum funds under the Second Five Year Plan.

(i1) Which area was allocated the minimum funds under the First Five

Year Plan and why ?

(111) Which allocations in the First Five Year Plan show that it laid
emphasis on agriculture and related subjects ?

9 P.T.O.



Tie :
Note :

20.
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HETfcTiea o7 aareT gIeariera aherferr & 1o7g, J97 &7 19 & T W & :

The following questions are for the Visually Impaired Candidates only,
in lieu of Question No. 19 :

(19.1) faehfea fFRieq @ s sAfm 3 2

(19.2) "I & & foreal Q1 &l o1 3@ T |

(19.3) ¥Rd ¢RI 918 TS Ui stefouaeen & fopgdl @ i sl ISR
HIT | 1+42+2=5

(19.1) What is meant by decentralized planning ?
(19.2) Mention any two advantages of public sector.

(19.3) Highlight any two benefits of the mixed economy adopted by
India.

o 0

ffaflad IgTor &1 eaHgdess TeA hifdu den 38 W snuria = fgw Mo
TEEl hl WU H W % 91 o qreqer TREn % 38 <9 A

3B IAMMUh ghg R 7Fa fasv o I TR &l ge o 2 |
SHEEAT hl Jlg-aql W ThAYEeh EA0 i ot foshraefial <= |
Tg SN YUH B | ET TR o ou H wed ueel sl ow 3§
TN 1 IGRIH ThAT | T8 g | ToRA o STaS[e, s arell o
TH <N HT Ui A Hehel =] IcuTe gfeaor Tfymn # ded SoTeT B |
HGE] FEY % FEHETAI hl il Hl 38 S A AhAILS Toredaed
S TE R |

() sE3guAfFE I aNA a= H T2 ?

(i) 39 3 ¥ Hafgd < A T Haifoes Agaqul IuAfcdi hl ggaH
HIfT |

(iii) 39 <¥ H B a1 8 g AT IRk FEN hl Fhfd T off ? 142+2=5

Study the following passage carefully and answer the questions based on
it that follow :
In spite of the ongoing conflicts in this country of South
Asia, it has registered considerable economic growth and
recorded high levels of human development. This country was
one of the first developing countries to successfully control the

10
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(1)
(i1)

(iii)

rate of growth of population, the first country in the region to
liberalise the economy and it has had the highest per capita
Gross Domestic Product (GDP) for many years right through
the civil war. Despite the ravages of internal conflict, it has
maintained a democratic political system.

Which country has been referred to in this passage ?

Identify the two most important achievements of the country
referred to in this passage.

What was the nature of the civil war and the internal conflicts of

this country ?

fova % fou o worifoss Yaamtes 8, g ww @), ®), ©, @ ® ga
T M & | A= § 78 TSR I HERAT ¥ F1 TAING qAT 3 EEl AW,
TN h1 T THRH hI SHH EEAT 9UT GRS SER % |1Y, & TS drfetehl %

IR, AT IH-Yfeaen 7 fofem -
TN bl TS SR
P Graf-yd 318/ | & 1 9

1)
(i)
(111)
(iv)
v)

(1)

(ii)

(iii)

(iv)

v)

39 ¢ o9 A & Il ST AN i TSrTE a9 o 3 |
I8 O S8 ISl Tielehidl T 1987 H HgH{d T <hl 7% |

5x1=5

IZ S THeE TG W S TH AT Sl & FE-2d TS H A 83T 2 |
39 Q¥ § @9 8 @G HIYR ATk HerarE B & |
39 Q¥ o YT ol STEIA STl gl 1l 8 |

11

P.T.O.



In the given political outline map of the World, five countries have been
shown by @, , @, @ and @ With the help of the information given
below, identify them and write their correct names along with the serial
number of the information used and the related alphabet as per the

following table in your answer-book :

Sr. no. of the Related Name of the
information used Alphabet country

(1)

(i1)

(iii)

(iv)

v)

(1) This island country is inhabited by the tribals known as

Polynesians.
(ii1)  The country where Kyoto Protocol was agreed upon in 1987.

(iii) This country is facing a dispute related to the construction of dams

on the Euphrates river.
(iv)  About ten lakh Mapuche indigenous people live in this country.

(v)  Indigenous people of this country are called Scheduled Tribes.

59/2/3 12



For question no. 21

I F. 21 % foag

SRk} bab)
eonnod adTdom
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13

59/2/3



e : el 397 &aet giEaniaa ghemaal & o, Jv7 G&qr 21 & T |

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Question No. 21 :

(21.1) HeraTE fohre HEd & ?

(21.2) FeraTERT I fhegl q STl o AW foTRIU qem Sarse fob o fopa <umi
HTEd @ ?

(21.3) fIva W & goranfe i g |in w2 2 142+2=5

(21.1) Who are called indigenous people ?

(21.2) Name any two tribes of indigenous people and the countries

where they live.

(21.3) What is the main demand of the indigenous people all over the
world ?

22. 25 S, 1975 ! WA H T T UTGHRIA o T ITGRN gl S+ areft
gifefat o1 fowaiyor SHifSw | 39 ht T |, UTdhId T T ST hat

deh 3fa ot 2 4+2=6
SO

1967 Wl §HT IATEl U= WRA H §T HE@qUl Sqaral 1 W&o Hive | 6

Analyse the circumstances which are said to be responsible for the

imposition of Emergency in India on 25th June, 1975. In your opinion,
how far was this imposition justified ?

OR

Examine the significant changes that India underwent after the
Lok Sabha elections of 1967.

59/2/3 14



23. off TR H I GUY I 8 A o [0l YRG TR g0 fohu U TRTET W
AT hifT | 6

areran
TIETTd dTehd o ®9 § 7adiehl a=ieg 1 fagamm Hifsu | 6

Assess the efforts made by the Government of India in solving the ethnic
conflict in Sri Lanka.

OR

Analyse the U.S. hegemony as a structural power.

24. G §Y YNGR H, BYW® g o N 3ifeeh Wl a9 % fog faawsw 2005
7 ot gegEl % U@l gl gee W TRl ©: heHi I gHEg

i | 6x1=6
AT

T T IURURS GROT & AW @R b fohegl oI T Gl bl IeAh o

3CTEN Higd avia hifse | 3x2=6

List any six steps which should be taken to make the United Nations
more relevant in the changing context as decided by the heads of all the
member-states in September 2005.

OR

Describe any three new sources of threat under the non-traditional
concept of security, giving examples for each.

25. WA ¥ fafagar o ye7 o guae & fTw Arehdifes gisdehivn sl 9= & @i

%1 UM HINT | 6
AYAT

YA § Toded o I § F1 AU 7 ? Tobd aifefcmi o SRl a8 aiad

TR 3T Y ? 2+4=6

Describe the advantages of the democratic approach to the question of

diversity in India.
OR

What is meant by ‘Era of Coalition’ in India ? What circumstances led to

this change and how ?

59/2/3 15 P.T.O.



26.

27.
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ST 8% o Aqcd H 1946 € 1964 Toh WRA i foc Hfd 1 oA

%”t_ﬂQl 6
AAAT

AT o TSTHITAeh Agcd o fohel T@ WRa k1 foger ifa sl ywifea foram 2 wia &

3TN <hl FERAT § 38 TS hiforu | 6

Evaluate India’s Foreign Policy from 1946 to 1964 under Jawaharlal
Nehru.

OR

How did the political leadership of India affect its foreign policy ? Explain
with the help of examples from India.

i g < SRH BI-BI <V TGl o TN o €9 H FhE YR HE=H

9 2 Tqee I | 6
T

qead! difodd §9 | Hifodd s¥aedt 6l fhal ©: ThRIcHe faRINdrsti sl 3R

IR | 6x1=6

How were the smaller states helpful to the Super Powers as their allies
during the Cold War ? Explain.

OR

Highlight any six negative features of the Soviet System in the erstwhile
USSR.

16



